Factorial ANOVA Exercise

The study looked at mothers who have been identified as being depressed.  The mothers and their   youngest child were invited to come to the lab and complete a 30-minute structured play activity.

BG Factorial Analysis Walk Through 





use the factab_122.sav  dataset 

The dependent variable is “Praise” (how many time the mother praises her child during the data collection protocol) 
The IVs are the famtype (2-parent vs. mother-only families)  and Treatment Status of the Mother 
(has received treatment or not)
What are the three effects in this factorial design?  Check the SPSS database ( Is each BG or WG?

Complete the factorial analysis and fill in Table 1 below (don’t forget he marginal means)



Find the results of the test of the interaction:

F = _______   df = ____, ______   p = _______   MSe __________       Is there an interaction ??? _____________
Do we need an LSDmmd to compare cell means to describe the pattern of the interaction?  _____   Why or why not?
If necessary, find the components for the LSDmmd computation:

 # conditions = ______    n = ________    df error ______     MSe = _______________      LSDmmd = ____________

If appropriate, show the pattern of the interaction in Table 1 - use the simple effects of Mother’s Treatment Status for each Family Type
· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 2-parent families
· Use <, >, or = to show the pattern of the simple effect of Treatment Status for mother-only families
Write up the interaction results below using the simple effects of Mother’s Treatment Status for each Family type – be sure to follow the example in the spss handout.
Find the results for the test of the Main effect of Mother’s Treatment Status
F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Do we need an LSDmmd to compare the marginal means to determine the pattern of the main effect?  _____   
Why or why not?

Show the pattern of this main effect using <, > or = between the Mother’s Treatment Status marginal means in Table 1.

Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV match the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Treatment Status is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 2-parent families
· Use <, >, or = to show the pattern of the simple effect of Treatment Status for mother-only families
· Is the pattern of the simple effect of Treatment Status different for 2-parent and mother-only families?

· So, is the main effect of Treatment Status descriptive or misleading? 
Write up the  main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.

Find the results for the test of the Main effect of Family Type 

F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Do we need an LSDmmd to compare marginal means to determine the pattern of the main effect?  _____   
Why or why not

Show the pattern of this main effect using <, > or = between the Family Type marginal means in Table 1.

Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV matches the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Family Type is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Family Type for mothers who have had No Treatment

· Use <, >, or = to show the pattern of the simple effect of Family Type for mothers who have had Treatment

· Is the pattern of the simple effect of Family Type different for mothers who have and have not had Treatment?

· So, is the main effect of Family Type descriptive or misleading? 

Write up the  main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.

.

BG Factorial Analysis Your Turn #1                                                                                        use the factab_122.sav  dataset
The dependent variable is “Direct” (how many time the mother gives direction/instruction to her child during the data collection protocol) 

The IVs are the magegroup (moher’s age group) and cagegroup (child’s age group)

What are the three effects in this factorial design?  Check the SPSS database ( Is each BG or WG?

Complete the factorial analysis and fill in the table below (don’t forget he marginal means)



a. Find the results of the  test of the interaction:

F = _______   df = ____, ______   p = _______   MSe __________       Is there an interaction ??? _____________

Do we need an LSDmmd to compare cell means to describe the pattern of the interaction?  _____   Why or why not?

If necessary, find the components for the LSDmmd computation:

 # conditions = ______    n = ________    df error ______     MSe = _______________      LSDmmd = ____________

If appropriate, show the pattern of the interaction in Table 1 - use the simple effects of Mother’s Age Group for each Child’s Age Group

· Use <, >, or = to show the pattern of the simple effect of Mother’s Age Group for 2-3 year old children

· Use <, >, or = to show the pattern of the simple effect of Mother’s Age Group for 4-5 year old children

Write up the interaction results below using the simple effects of Mother’s Treatment Status for Mother’s Age Group for each Child’s Age Group – be sure to follow the example in the spss handout.

Find the results for the test of the Main effect of Mother’s Age Group

F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Do we need an LSDmmd to compare marginal means to determine the pattern of the main effect?  _____   
Why or why not?
Show the pattern of this main effect using <, > or = between the Mother’s Age Group marginal means in Table 1.

Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV matches the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Mother’s Age Group is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Mother’s Age Group for 2-3 year old children

· Use <, >, or = to show the pattern of the simple effect of Mother’s Age Group for 4-5 year old children

· Is the pattern of the simple effect of Mother’s Age Group different for 2-3 and 4-5 year old children?

· So, is the main effect of Mother’s Age Group descriptive or misleading? 

Write up the  main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.

Find the results for the test of the Main effect of Child’s Age Group 

F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Show the pattern of this main effect using <, > or = between the Child’s Age Group marginal means in Table 1.

Do we need an LSDmmd to compare marginal means to determine the pattern of the main effect?  _____   
Why or why not?
Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV matches the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Child’s Age Group is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Child’s Age Group for 18-27 year old mothers
· Use <, >, or = to show the pattern of the simple effect of Child’s Age Group for 28-35 year old mothers
· Is the pattern of the simple effect of Child’s Age Group different for 18-27 & 28-35 year old mothers?
· So, is the main effect of Child’s Age Group descriptive or misleading? 

Write up the  main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.

BG Factorial Analysis Your Turn #2                                                                                           use the factab_122.sav  dataset
The dependent variable is “Negat” (how many time the mother gives negative feedback to her child during the data collection protocol) 

The IVs are the tx (moher’s treatment status) and cagegroup (child’s age group)

What are the three effects in this factorial design?  Check the SPSS database ( Is each BG or WG?

Complete the factorial analysis and fill in the table below (don’t forget he marginal means)




Find the results of the test of the interaction:

F = _______   df = ____, ______   p = _______   MSe __________       Is there an interaction ??? _____________

Do we need an LSDmmd to compare cell means to describe the pattern of the interaction?  _____   Why or why not?

If necessary, find the components for the LSDmmd computation
 # conditions = ______    n = ________    df error ______     MSe = _______________      LSDmmd = ____________

If appropriate, show the pattern of the interaction - use simple effects of Mother’s Treatment Status for each Age

· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 2-3 year olds

· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 4-5 year olds

· Is the pattern of the simple effect of Child’s Age Group different for 18-27 & 28-35 year old mothers?

Write up the interaction results below – be sure to follow the example in the spss handout.

Find the results for the test of the Main effect of Treatment Status

F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Do we need an LSDmmd to compare marginal means to determine the pattern of the main effect?  _____   
Why or why not?
Show the pattern of this main effect using <, > or = between the corresponding marginal means in Table 1.

Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV matches the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Treatment Status is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 2-3 year olds

· Use <, >, or = to show the pattern of the simple effect of Treatment Status for 4-5 year olds
· So, is the pattern of the simple effect of Treatment Status different for 2-3 & 4-5 year olds?

· So, is the main effect of Treatment Status descriptive or misleading? 

Write up the main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.

Find the results for the test of the Main effect of Child’s Age 

F = ________   df = ____, _____    p = ________  MSe ____________       Is there a main effect ??? _____________

Do we need an LSDmmd to compare marginal means to determine the pattern of the main effect?  _____   
Why or why not?
Show the pattern of this main effect using <, > or = between the corresponding marginal means in Table 1.

Do we need an LSDmmd to to compare cell means to check if the pattern of the simple effects of this IV matches the pattern of the main effect for this IV?  _____   Why or why not?

If appropriate, check if the main effect of Child’s Age is descriptive or misleading …

· Use <, >, or = to show the pattern of the simple effect of Child’s Age for mothers who have received no treatment
· Use <, >, or = to show the pattern of the simple effect of Child’s Age for mothers who have received treatment
· Is the pattern of the simple effect of Child’s Age different for those who received and did not receive treatment?

· So, is the main effect of Child’s Age descriptive or misleading? 

Write up the  main effects results below (including whether it is descriptive or misleading)  – be sure to follow the example in the spss handout.


Assignment grade out of 20 points ______________ 
Mother’s Treatment Status


No Treatment                 Treatment





Family Type





2-parent 

















Mother-only





Mother’s Age Group


18-27                 28-35





Child’s Age Group





2-3 years old

















4-5 years old





Mother’s Treatment Status


No Treatment                 Treatment





Child’s Age





2-3 years old

















4-5 years old





Grading


Walk-throughs				______ 5


BG Factorial Your Turns			______ 15


Total Graded Points   ______    -  ______ (points lost - why?)  











